+

T =

= (—:40)
JEHI 2 ET T X KD
V= 4.31 X 18.50 = 79. 74
¥No.1+2. 50~No.2+1. 0
>y = 79.74  m3 79.7
PRI 2 ET T X D
V= 1.85 X 18.50 = 34. 23
¥No.1+2. 50~No.2+1. 0
>y = 34.23  m3 34. 2
WAL 2 ET T X D
Vi=  1.41 X 18.50 = 26. 09
¥No.1+2. 50~No.2+1. 0
>y = 26.09 m3 26. 1
PEEIR AR F ezl = 79. 74
PRI = 34.23
= 113.97  m3 114.0
I R Y o B+ = 0. 00
HEL = 26. 09
= 26.09 m3 26. 1
AL C #2E0 + K#E ) — ( BEL + H#HE ) /0.9
V= 113.97 — 26.09 /0.9 = 84.98 m3 85. 0




N = JoAs
7 v v 7 @B LEHRE (—2%4 )
7y 7L
A=A JEBAX X v
Al= ( 400 4+ 4.10 ) X 1/2 X
( 827 + 873 ) X 1/2 34. 43
A2= ( 4.10 4+ 4.25 ) X 1/2 X
( 12.44 + 13.39 ) X 1/2 53. 92
A3= ( 4.25 + 27 ) X 1/2 X
( 1.33 + 1.54 ) X 1/2 6.11
> 94.46 = m2 94.
HIARS 2 ET T X D
(RC-40) V= 1.18 X 18.50 21.83
¥No.1+2. 50~No.2+1. 0
> 21.83  m3 21.
KK = A= 94.46 — 0.50 X 18.50 X 1.044 84.80 m2
(VP ¢ 50) KEphmE  H=0.5m A}ke1.044 (1:0.3)
N= 84.80 <+  3.00 = 28.3 29.00 @
L= 29.00 X 0.51 14.79  m 14.
W HBSIEAS A= 0.30 X 0.30 X 29.00 2.61  m2 2.
(300X 300X 30)
H Hibt Al=  4.14 X 0.450 X  3.00 5. 59
(BT B HOBR, t=10mn) KIEHSLA. 14
> 5.59  m2 5.
MiEZefif: | N=  18.50 =  2.00 = 9.3 10.0 | {#A
(0" =N Vb ¢ 200)
L= 10.00 X  0.40 4.0 m 4,
HERET JEBRX L 0
L= 23.66 23.66 m 23.
Kt T JEBRX L 0
L= 22.04 22.04  m 29.




5

(10m4 )
430 100
a o )—Fk
y (18-8-40BB)
T
- ™
o N
(e)
(=]
\ o
100 530 100 ByLarvoy—+¢
(18-8-40BB)
730
v PR 7 H HAT =
27—k V= { 0.100 X 0.230 + ( 0.230 +
(18-8-40BB) 0.100 ) = 2.000 X 0.430 } X
10. 000 = 0.940 | m3 0.94
piAlp s A= ( 0.230 + 0.100 ) X 10.000 = 3.300  m2 3. 30
HLarzU—hk V= 0.730 X 0.100 X 10.000 = 0.730 | m3 0.73
(18-8-40BB)
¥ LR A= ( 0.100 + 0.100 ) X 10.000 = 2.000 | m2 2. 00
H Hissf A= { 0.100 X 0.230 + ( 0.230 -+
AT L, ¢ =L0nm) 0.100 ) = 2.000 X 0.430 } X
1. 000 = 0.094 @ m2 0. 09
IR¥EL A= 0.730 X 10.000 = 7.300  m2 7.30




L
36 ) T (10m24 1)
430
= N
avol)—k
(18-8-25BB)
v PR 7 B =V iVARNE~'¢ =
a7 U—K V= 0.430 X 0.130 = 2.000 X 10.000
(18-8-25BB) = 0.280 | m3 0.28
piAlp s A= 0.130 X 10.000 = 1.300 @ m2 1. 30
H ks A= 0.430 X 0.130 =  2.000 = 0.028 | m2 0.03

(VEFHEHEET B H2dR, € =10mm)




5 # M T

(—x4v)

AR BHREA T

H— KL —
(Gr-C-2B)

L=

FHEE LD
18. 50

18. 50

18. 50

18.5




B K # & B T & = (—2% 1)
Il T
UL R R K Y
(3%&3004) L= 18. 50 18. 50 m 18.5
a7 U—F#E N= 18. 50 - 0.50 — 2.00 35.00 | ¥ 35.0
T —F o TE N= 18. 50 - 10. 00 2.00 | 2.0




U =

(U

(3 F 3004)

(10m4 )
UZY{BI7E (3%E300A)
ZERBEVHAVIILESR
‘ 520 |
300
UZ4 A% (37 300A L=2000)
. #ELHZILA:3)
= 4 (RC-40)
360
560
v PR 7 B BAT =
UZRARIE: N= 10.000 =+ 2.000 5.000 & 5. 00
(3FE300A) ( L=2000, 3 B &=419kg/f# )
SEEGRE Y YA 7 VR
#rE X V= 0.360 X 0.030 X 10.000 0.108 @ m3 0.11
(1:3)
FMERA A= 0.560 X 10.000 5.600  m2 5. 60
(RC-40, t=10cm)
FmmHE I A= 0.560 X 10.000 5.600 m2 5. 60




U i

il

a7 Y — bk #F (3 300) (=)
412
10 135, 10
—
412
&l
5 402 5
W=45kg/4%
4 PR it B HAL B =
a7 J—FE N= 1.000 %« 1. 00
(3%, B=300) ( L=500, 235 # £=45. Okg/#X )

ZERY YA 7 VRRE RS,




T ]
JVv—F v 7F (1-25,300) (44 D)
412

(:41217

ngFu :

W=16. 5kg/#&
H B it 5 M % R

Aonidt s 1.000  #% 1.00

B 194w, T-25, 300)
GEEHE~—27 A)
SEEGRE Y YA 7 VR

( L=500, 5 B &=16. bkg/#L )




MO T F "5 & (—R2% 1)

T AT 7 M T

HEIE A
B AT X LD
(M-30, t=100mm) A=  0.60 X 18.15 — 10. 89
T = 10.89  m2 10. 9
®E Ve LD
(t=40mm) A= 0.60 X 18.15 — 10. 89

x = 10.89 | m2 10.9




wmiE YW E L

i

+ 5 F

(—%0)

Bh MR T

H— KL — =

EE EEE L T

a7 y—h
TS B L
(fEE/%)

ElE R M
(TAZ7 7 EH)
(t=15emPA F)

TATZ 7V R
ERLERR B L
(t=10cmlA F)

TEHRALEE T

B
(JEfif= > 7 ) — 1)

B
(TAZ7ILR)

ALY
(=2 ) — b

ALy
(TAZ7ILR)

A7 T T
(Bkfg, ~E—H3)

T

18. 50

PRYEWTIE] L 0
0.20 X 18.50

0. 60 + 0.60

¥No. 1+2. 557 7170, 6m, No. 2+1. OREWT 5 160. 6m
¥No. 1+2. 577 HNo. 241. 0F T

ERYEWTE X L D
0.60 X 18.50

EYEUE L L0
3.70

fEDEUE L LY
110 X 0.04

18. 50 X 16. 40
% 16. 4kg/m

555 o E
0.30 <+ 2.00

18.

18.

19.

19.

11

11

303.

303.

50

50

.70

.70

70

70

10

10

.70

.70

.44

.44

.70

.70

.44

.44

40

40

.30

.00

m3

m2

m3

m3

m3

m3

kg

18.

19.

11.




